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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidates

should limit their answers to the questions on the

given answer sheet. No additional (B) answer

sheet will be issued.

uksV :µ ;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any two (02)

questions only.

uksV :µ [k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. What is a polarimeters ? Explain Laurent Half shade

polarimeter in detail. Discuss action of Laurent half shade

Plate. How specific rotation of sugar solution is find

from it ?

iksykjhehVj ls vki D;k le>rs gSa \ ykWjsUV gkQ&'ksM iksykjhehVj

dks foLrkj ls le>kb,A ykWjsUV gkQ&'ksM IysV dh fØ;k ppkZ

dhft,A bldh enn ls fdl izdkj phuh ds ?kksy dk fof'k"V

?kw.kZu izkIr fd;k tkrk gS \



A–1112/PH Y (N)–220 ( 3 ) P.T.O.

2. What do you understand by interferometer ? Discuss

about Michelson interferometer in detail. Discuss action

of compensating plate.

O;frdj.kekih D;k gS \ ekbdsylu O;frdj.kekih dks foLrkj

ls le>kb,A {kfriw£r IysV dh dk;Zfof/k ij ppkZ dhft,A

3. Define diffraction phenomenon. What do you mean by

the Fresnel class and Fraunhofer class of diffraction ?

foorZu ?kVuk dks ifjHkkf"kr dhft,A foorZu ds Ýstusy oxZ vkSj

ÝkSugksQj oxZ ls vki D;k le>rs gSa \

4. What do you understand by diffraction grating ? Explain

the dispersive power and chromatic resolving power of

an optical grating.

foorZu xzsfVax ls vki D;k le>rs gSa \ ,d izdk'kh; xzsfVax ds

fy, fo{ksi.k {kerk rFkk o.khZ; foHksnu {kerk dks le>kb,A

5 What is the principle of superposition of waves ? What

is interference ? Prove that the phase and path difference

between to waves for constructive interference is an

even multiple of  and /2 respectively and for

destructive interference an odd multiple of  and /2

respectively.

rjaxksa ds v/;kjksi.k dk fl¼kUr D;k gS \ O;frdj.k D;k gS \

fl¼ dhft, fd laiks"kh O;frdj.k ds fy, nks rjaxksa ds chp

dykarj vkSj iFkkUrj Øe'k%  vkSj /2 dk lexq.kd gksrk gS

vkSj fouk'kh O;frdj.k ds fy, Øe'k%  vkSj /2 dk fo"ke

xq.kd gksrk gSA
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Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

uksV :µ [k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa

dks buesa ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA

1. What is a zone plate ? Compare zone plate with convex

lens.

tksu IysV D;k gS \ tksu IysV dh rqyuk mÙky ysal ls dhft,A

2. Write short note on Fresnel Biprism.

Ýstusy ds f}&fizTe ij laf{kIr fVIi.kh fyf[k,A

3. What do you understand by polarization ? Explain how

polarization is done by reflection.

/kzqo.k ls vki D;k le>rs gSa \ le>kb, fd ijkorZu }kjk /

kzqohdj.k dSls fd;k tkrk gS \
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4. Explain law of Malus. Also explain it if used light is

unpolarised.

eSyl dk fu;e le>kb,A ;fn iz;qDr izdk'k v/kqzfor gks rks bl

fu;e dh O;k[;k dhft,A

5. In a Newton’s rings experiment the diameter of the 15th

ring was found to be 0.59 cm and that of the 5th ring is

0.336 cm. If the radius of curvature of the lens is 100

cm, find the wave length of the light.

U;wVu ds O;frdj.k iz;ksx esa 15osa oy; dk O;kl 0.59 lseh

rFkk 5osa oy; dk O;kl 0.336 lseh gSA ;fn ysal dh oØrk

f=T;k 100 lseh gS] rks iz;qDr izdk'k dh rjaxnS?;Z Kkr dhft,A

6. Explain the construction of Huygen’s eyepiece with a

neat ray diagram and compare it with other eyepieces.

gkbxsUl usf=dk dh lajpuk dks ,d LoPN fdj.k vkjs[k ds lkFk

le>kb, rFkk vU; usf=dk ls bldh rqyuk dhft,A

7. Write the conditions of interference and explain the

Young’s Double slit experiment.

O;frdj.k dh 'krs± fyf[k, rFkk ;ax ds f}&fLyV iz;ksx dks

le>kb,A
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8. What do you mean by Cardinal Points ? Explain the

Cardinal points with a neat diagram.

dk£Muy fcUnqvksa ls vkidk D;k le>rs gks \ ,d LoPN vkjs[k

}kjk dk£Muy ikWbaV dks le>kb,A

**************


